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Bronze

1a. Yes because he has used five counters

to represent five tenths.
2a. C because it shows % and the others
are 4 _.
10
3a.0.2,04, 0.8, 0.9

Silver

4a. No because she has used eight straws

instead of nine.

5a. D because it shows % and the others
S

dre } o \

éaq. ﬁ , 0.3, W ,0.8

7a. Yes because there are % already
shown. Adding two more straws would
represent 1_8;3 . .

8a. C because it shows 75 and the rest
are %.

9a.0.1, 0.3, 0.4, 0.9

1b. No because she has used eight
counters instead of seven.
2b. B because it shows % and the others
are 7.

10
3b. 0.1, 0.3, 0.5, 0.6

4b. Yes because he has used six straws to

represent six tenths.

5b. B because it shows % and the others
4

dre % 5 S

éb. 30’70 0.7, 0.9

7b. No because there are already %
shown. Adding two more straws would
represent %.

8b. B because it shows % and the rest are
9

10 *
9b. 0.2, 0.4, 0.7, 0.8



